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Clarification Request 

References: BTL Test Plan 135.1 - 2007 - 9.8.3. 

Background: 

The Purpose mentions: “This test case shall be executed only for devices that contain more than 
one object that can detect alarms.” But the Test Conditionality in Test Plan is “Must be executed.” 

Question: 

Should Test Conditionality in Test Plan for  test 135.1 - 2007 - 9.8.3 be:  “Must be executed for 
devices that contain more than one object that can detect alarms.” ? 

Response: 

Yes, and we will change the conditionality for test 9.8.6 as well. 


